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DEFENCE AND STRATEGIC STUDIES
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks
each. All questions are compulsory.

1. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : International Organizations such as the United Nations now operate with
a broader definition of security that is multi-sectoral and encompasses a broader
agenda, and not just the military dimension.

Reason (R) : While the focus on military power during the cold war period was
understandable, there was an urgent necessity to tackle the non-traditional security
(NTS) challenges, including human insecurity, climate change, health care and so on.

Codes :

(1) Both (A) and (R) are correct, but (R) is not a comprehensive explanation of (A).

(2) Both (A) and (R) are not correct.

(3) (A)is not correct, but (R) is correct.

(4) (A)is correct, but (R) is not correct.

2. Match the following leaders in List | with their nick names in List Il and use codes given

below :
List -1 List—11
(Leaders) (Nick Names)

a. Benito Mussolini i.  Le Grande Charles
b. Adolf Hitler ii. ke
c. Charles de Gaulle iii. Duce
d. Dwight D. Eisenhower iv. Der Fuehrer
Codes :

a b c d
@ i i iv il
(2 iv i i i
3 i i i iv
4 iii v i i

3. Who among the following observed that “Statesmen are actors in a tragedy beyond their
making or repair” ?

(1) Robert Jervic (2) George Kennan
(3) Raymund Arou (4) J.Nye
4. Which one of the following theorists is associated with the “feminist” school of national
security ?
(1) Robert Keohone (2) Kenneth Waltz
(3) Ann.J. Tickner (4) Andre Gunder Frank

5. Who among the following scholars stated that the US is enjoying the upper portion of the
multilayered cake of world power politics due to its military and economic power ?

(1) J.Nye (2) S.P.Cohen
(3) H. Kissinger (4) Kenneth Waltz
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= - |
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b. USeE fezek ii. omEH
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FT

a b c d
@ @0 v i
@) iv @i i
@) i Qi i v
@ i v i i
frfafad o | forae fowoht &6t ot fob “Tomar Tt st | 3= Fmior a1 wemd & aR ST
BAE” 2
(1) e Sfaw (2) it
(3) Tewi (4) w93

fefefad & | Siar fagider TEE Gt & TRIaET faRuRT d 9o 8 2
(1) e fFetem (2) FH oS
(3) TS, feER (4) s 7RI R
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(3) uH TR (4) " TS
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6.  Match the following thinkers given in List-1 with their theories given in List-11. Use the
codes given below :

List-1 List-11
(Thinkers) (Theories)
a. A.T. Mahan i. Red Book
b. Mao Tse Tung ii.  SeaPower
c. H. Mekinder iii.  Doctrine of Circles
d. Kautilya iv.  Geographical Pivot of
History

Codes :

a b c d
@) ii [ iv i
2 i i i v
(3) i i i iv
4) iv i iii [

7. Who among the following stated that “the balance of power system was not only
inevitable but also an essential stabilizing factor in international relations ?

(1) Kenneth Waltz (2) E.H.Carr
(3) HansJ. Morgenthau (4) Trevor Taylor

8.  Identify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : Internal security problems can endanger national security more critically
than external aggression.

Reason (R) : Army must be deployed to check the internal threats.
Codes :

(1) (A)is false but (R) is true.

(2) (A)istrue but (R) is false.

(3) Both (A) and (R) are true.

(4) Both (A) and (R) are false.

9.  Which one of the following causes resulted in the failure of US — Soviet déetente ?
(1) Domestic developments (2) Proxy wars
(3) Resource scarcity (4) Technological supremacy

10. Identify the correct code for the following Assertion (A) and Reason (R) as given below :
Assertion (A) : State policy is the womb in which war is developed.

Reason (R) : War is to be regarded not as an independent thing, but as a political
instrument.

Codes :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A)is true but (R) is false.

(3) (R)istrue but (A) is false and (R) is incorrect explanation of (A).

(4) Both (A) and (R) are false.
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= - | = - 1
ERLED! (ITrer Weien)
a. T2 W i, T fohdTe
b. TN i,  AHsE A
c. Ud. Afhe iii. oo @ fasid
d. =ifeea iv. SfeT St diferss g7t
Fe !
a b c d
Q) i i v i
@ i Qi i v
@) i i i v
@) iv Qi i i
7. Tt § @ fopee FeT € T oI et Bt HOTelt | hael STUNE &, dfeeh AeRTeT Taul o
T 3Tevash FeRSRT geeh of & 2
(1) Y aTest (2) TTIFR
(3) &9 S AT (4) TR TR

8. Tymitha tfeper (A) IR 0 (R) & foIT Hel H T 5 DT
AFTHAT (A) : AR G D THRT AL G & [0 Sl SeHAvT ¥ SART 981 Hohe Tl
T Gl & |

qF (R) : AR Gl i Ak & 1T TAT T Hold 37w har STAT A1fey |

% :

(1) (A) 7o &, 9 (R) Tel & |

(2) (AT E T (R) T & |

(3) (A) 3R (R) I eI € |

(4) (A) 3R (R) I Toid € |

9. iR RO H § fohqeh IRUTEEY STHREH-Tifoad aHTe-3Ted 3T gt 2

(1) =e] weAl Q) T=EIE
(3) HHTE =T W (4) et S

10. To=AiTeRa Afyerer (A) 3R 0 (R) & 6T W&l $2 &t wea= &Y |
arfiremer (A) : g i o TieE &, e g5 fastad sy |
AP (R) : I &l FT WAT AT Fal GHSA ST AT | Jg Teh TSI STHT ¢ |
T
(1) (A) 3R (R) I el €, W (R), (A) i T&t A0 F&I & |
(2) (A)TEE W (R)TATE |
(3) (R) W& W (A) T ¢ 3R (R), (A) & Toid AR & |
(4) (A) 3T (R) I T & |

J-11-16 5 Paper-I111

WWW a?27StuUbiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

11. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The relationship between individual and national security is recognized as
being a complex one in which states themselves can pose significant threats to the
security of individuals.

Reason (R) : Individual security can not be the basis of security analysis. Because the
state cannot be reassembled from individual level attributes.

Codes :

(1) (A)is correct but (R) is not correct.

(2) (A)isnot correct but (R) is correct.

(3) Both (A) and (R) are not correct.

(4) Both (A) and (R) are correct but (R) is not the comprehensive explanation of (A).

12. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Clausewitz argued that war is path of the social & political totality,
differing only in its means from peace.

Reason (R) : All wars were the product of the societies that fought there and therefore
each age had its own kind of war, its own limiting conditions, and its own peculiar
pre-conceptions.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A)is correct and (R) is not correct.

(4) (A)is not correct and (R) is correct.

13. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Terrorism has crossed national frontiers and has acquired international
dimensions in various shades and modes.

Reason (R) : International or transnational terrorists do not have any respect for
international norms or laws of international system. In addition, some countries
sponsor terrorist activities to fulfil their political, strategic & other unstated goals.

Codes :

(1) Both (A) and (R) are not correct.
(2) (A)is correct and (R) is not correct.
(3) Both (A) and (R) are correct.

(4) (A)isnot correct and (R) is correct.

14. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Creation of Bangladesh was a big boost for Indian Armed Forces.
Reason (R) : India had gained its morale after the war in a big way.

Codes :

(1) (A)is correct but (R) is false.

(2) (A)is false, but (R) is correct.

(3) Both (A) and (R) are true, but (R) is not the correct reason for (A).
(4) Both (A) and (R) are false.
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11.  To=AiteRa Ifyewe (A) 31X d% (R) & T T&l e o Ted Hiu ;
Afpem (A) : AR 3R AL G o & HT GaY (et TS ST ¢, Fih I W@ Al
1 G foTT Wy 3T Y el & |
A% (R) : =l i TR, YT [G9eior S SR A& 97 Tohell | s ST o TRl o SMER
TR I T TS el [ohal ST Hehell |

ETE
(1) (A)TE T (R) T TRIE |
(2) (A TR E W (R)TIE |
(3) (A) 3R (R) AT W&l =i € |
(4) (A) 3 (R) 31 T&l &, W (R), (A) T 0T IR &l & |

12. To=AiteRa tfyerer (A) 3R @ (R) % o0 9el % & Jga iy ;

ANUHT (A) : FARTAST Sl Tl € b I WHISTR TAT ST YO T 71 €, ST [t 370
T & RO wita F = &

% (R) : Tl 35 210 39 QAT & 3015 9, e 3% ofel, $afee @t hredl o S 370 T
&% g o, IAH! ST TS off Y 7T q-Romy of |

F:

(1) (A) 3R (R) I T € |

(2) (A) 3R (R) ST &l F&T & |

(3) (A)TE TR (R) W TEIT |

(4) (A) T T T 3R (R) W& |

13. T=fatEs i (A) 3R @ (R) & el Bt Tear & ;

afirper (A) : 3Tdshdrs J TR TS I IR & forar & o so fafe=r etmeror (viga) e
TR AR AW W80 & U E |

qE (R) : SRIET A1 TL-IRIG SAhaTE! ST 2T a1 SRS YOTelt & AT T qee=
Tel I | THP SN, T S I TSI, AT 3T 3 TR 32941 Dl I
% fe1w arrishandt nfafatuat st wrfstd e € |

% :

(1) (A) 3R (R) 3T W& T € |

(2) (A)TWIT AR (R) Tl TRl |

(3) (A) 3 (R) I W& & |

(4) (A) T T AN (R) W T |

14. Tr=tatEa e (A) 3R 7 (R) & Tel $ P Team Y ;
Afpe (A) : SCRST S FHIOT YR Sl T T3 % folu STeafyss Aiee SgH aret
HZATRH 9T |

% (R) : IRT A 30 FF o UV 310 Heel § JaTe g gTaet o o of |

F:

(1) (A)TE T (R)TTE |

(2) (A) T €, W (R) W& |

(3) (A) R (R) 31 Wl &, W (R), (A) FT &l HRT &l ¢ |

(4) (A) 3R (R) I Tord € |
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15. Arrange the following events in their ascending chronological order and use the code
given below :

l. Malegaon Blast

I1.  Ishrat Jahan Encounter

1. Hijacking of IC-814 & Release of Masood Ajhar
IV. Pathankot Air Base Attack.

Codes :
@ v, uL L (2 LIV
3 MLV 4 IV, 001

16. Match the List-1 (countries) with List-11 (years of ratification of the START agreement by
the CIS countries) and use the code as given below :

List-1 List-11
(Countries) (Months & years of Ratification)
(a) Balarus (i) November 1992
(b) Kazakhstan  (ii) February 1993
(c) Russia (iii) July 1993
(d) Ukraine (iv) November 1993
Codes :

@ () (© (@
@ G (@) (@) (i)
(2 @) @iy @) (v)
@) (i) (i) (@v) ()
@) (v) @) () (i)

17. Arrange the following events in a chronological ascending order during the post cold war
period and used the code given below :

(1)  Civil war in former Yugoslavia (i) Russia’s invasion on Georgia
(iii)  US led invasion of Afghanistan (iv)  Rwandan genocide

Codes :

(@) (), (i), (i), (i) (2) (i), (i), (i), (iv)

@) (), (iv), (iii), (i) (4) (i), (i), (iv), (i)

18. Which one of the following is considered as the organisation accountable for perpetrating
sparatist terrorism within China’s Xi Jiang province ?

(1) ISIS (2) Al-Queda
(3) Hakkani Network (4) Uighur Turkestan Islamic Party
Paper-I111 8 J-11-16
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15. ffeiad wearsti & 3% STRIET FHIeHhE A & SR Fared H 3 A KT T %

T HY |
I, HreTe faepe
Il.  39Rd ST gede

I, STEH-814 HT TV 3 TYF 3T5TeX I e
IV. USH®E TR o9 W gHel

&
OERVALNN] @ L1V
@) 1,1, 111V ORRVAIRIN

16. FfefEd g — | (@) & g — || (ST, & 39 §RT LI (START) 9 &l 9rgfe &
) % Q1Y Gt L AT A T 1T % vEn
=it - | =t - 1
Gm (e )
(a) AT (i) &= 1992
(b) FeEEE (i) AT 1993
(c) =9 (iii) ST 1993
(d) S (iv) &= 1993
F

(=N

@ () (© (@)
@) Gy @) (v) (i)
() () (i) (1) (v)
@) @) () (@v) ()
@) (v) (i) (1) (i)

17. T=fafEd geren ®t 3 JERR HeT % IR 396 STRIET HIoThH & SR Fared HY 3T
T 5w MU e T =
(i) Aadl T | T8 5
(i) & 1 ST IT STTHHIT
(iii) STARHT & 3G T STHEM U TR
(iv) Tarel § SEER
—

Q) (v), (i), (i), (iii) (2) (i), (i), (1), (iv)
3 (), (iv), iii), (i) 4) (i), (iii), (iv), (i)
18. Trefcfad & & fovg e &t 19 & fGeaiT uid § STerTeas! s 9o & faw fSEgr
AT ST & 2
(1) oTETq.TETH. (2) A B
(3) EFHHI AeaH (4) R THEA SEAMHS dret
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19.  Who amongst the following stated that “Religion is vitamin for the masses” ?

(1) Karl Marx (2) F.Angles
(3) Mao-Tse-Tung (4) Regis Debray
20. 14-Member “Heart of Asia-Istambul process” was launched by Turkey in the year :
(1) 2015 (2) 2014
(3) 2013 (4) 2011

21. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : The revolt of 1857, sometimes is not treated as National War of
Independence.

Reason (R) : It was localised and was confined to North and Central India and many
leading States did not participate in the movement.

Codes :

(1) Both (A) and (R) are true and (R) is not the reason of (A).
(2) Both (A) and (R) are true and (R) is the right reason of (A).
(3) Both (A) and (R) are incorrect.

(4) (A)is correct but (R) is not correct.

22. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :
Assertion (A) : During the 1971 Indo-Pak war, USA seemed favourable towards Pakistan.
Reason (R) : During this period India had a strong defence cooperation with USSR.
Codes :

(1) Both (A) and (R) are true, and (R) is the explanation of (A).

(2) (A)istrue, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

23.  UN declaration of Human Rights was made on

(1) 24™ October 1948 (2) 10™ October 1948
(3) 15™ October 1949 (4) 14™ October 1950
24.  'Who among the following was the Defence Minister of India during Indo-Pak war of
19717
(1) George Fernandez (2) Jagjivan Ram
(3) Y.B.Chawan (4) A.K.Antony

25. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :
Assertion (A) : India is a victim of State sponsored terrorism from Pakistan.
Reason (R) : India cannot blame Pakistan for the terrorist strikes.

Codes :
(1) (A)istrue, but (R) is false. (2) (A)is false, but (R) is true.
(3) Both (A) and (R) are false. (4) Both (A) and (R) are true.
Paper-111 10 J-11-16
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19. fFr=faftad 5 9 e o o {6 “ai Sar & foe faefa 87 2

(1) et e (2) U Uoew
(3) TR g (4) TS

20. 14-T “B1S N URTAT-SEATeT WG ! 5171 o6 a9 | I fohar T o1 2
(1) 2015 (2) 2014
(3) 2013 (4) 2011

21, Ty=iha iR (A) 3R o (R) % T el 3 i Tga & ;
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AR (A) : F-FT 1857 o foTsle i ST o AT I o & § el @7 Sl |

qF (R) : T TNHH o, ITR 3R q&F YA I THT o1 3T 3 o 591 5 STH 9T Fal forar

qr |
&<
(1) (A) R (R) 1 Wl &, 31X (R), (A) T HRT & ¢ |
(2) (A) 3R (R) I W&l &, 31X (R), (A) & &l FRUTE |
(3) (A) 3R (R) I Tord € |
(4) (A) W&, Al (R) T &I T |

22. feifea sifyere (A) 3R 0 (R) & foTT W&t e &t Tea Hig

AftUHET (A) : 1971 & IRA-UTH JF o IR STHREHT TR o Wl FHUIe] T o1 |

qF (R) : 39 90T TRA BT Tifoad T o T ToTa R TednT Fae o |
YA

(1) (A) 3R (R) IHT Tl €, 3R (R), (A) B A=A |

(2) (A)TEE W (R)TEAE |

(3) (A) T e, W (R) Tl |

(4) (A) 3R (R) 31 &l €, W (R), (A) H Hel = &l ¢ |

23, THA SUHRI T TR I 1 TG0 & TTE

(1) 24 37, 1948 (2) 10 3R, 1948

(3) 15 37RER, 1949 (4) 14 3R, 1950
24, 1971 % RA-U JF % U il § & YA 1 I Tt B o7 2

(1) SIS wAEE (2) SISt 9

(3) . =T (4) U A

25. fifera aifieper (A) 3T @ (R) % foiT @@t e &1 =97 i
ATHYT (A) : R, TR % TL-GATAT ATdhaTs I FHR E |
qF (R) : IR, WL W AAhaTR! g9el & foTd STRIT Fal o el |

FT:

(1) (A) T W (R)TEE | (2) (A)TeEE, W (R) T T |

(3) (A) R (R) =1 TeAd € | (4) (A) 3R (R) 3= @& & |
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26. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Since the insurgents / naxalites claim that they are fighting a people’s war,
the authorities of the government must win over the people by emphatically
demonstrating, that it is the government forces that are waging the war of people to
mitigate the problems of despair, hunger, poverty and underdevelopment.

Reason (R) : Good governance and inclusive growth can be oxygen for the masses in

insurgency-prone/naxal areas.

Codes :

(1) (A)is correct, but (R) is not correct.

(2) (A)isnot correct, but (R) is correct.

(3) Both (A) and (R) are not correct.

(4) Both (A) and (R) are correct.

27. ldentify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Environment is now prominently seen as a security agenda by different
governments, international institutions and the public at large.
Reason (R) : Securitization of environment is now widely recognized as an inevitable
discourse.
Codes :
(1) Both (A) and (R) are not correct.
(2) Both (A) and (R) are correct.
(3) (A)is not correct, but (R) is correct.
(4) (A)iscorrect, but (R) is not correct.

28. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : The Indian Ocean has remained an area of strategic importance since
early times.

Reason (R) : Geographical location of Indian Ocean, its sea routes, its vast repository of
natural resources and densely populated countries along its shores adds to its
significance.

Codes :

(1) (A)is correct but (R) is not correct.

(2) Both (A) and (R) are correct.

(3) (A)isnot correct but (R) is correct.

(4) Both (A) and (R) are not correct.

29. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Both energy security and environmental security are critical issues for
India in particular and South Asia in general.
Reason (R) : Most of the South Asian Countries are lacking adequate conventional
energy resources. In addition, these countries are also facing acute environmental
problems due to deforestation and water scarcity.
Codes :
(1) Both (A) and (R) are not correct.
(2) (A)is correct, but (R) is not the correct explanation of (A).
(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(4) (A)is not currect, but (R) is correct.
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26. To=iha AT (A) 3R @ (R) & foTT W&l e i Ted Hiteu ;

afirmer (A) : = g Aeeee 98 S X & o o ST S e O W@ €, THOT TR
% AR ! SHAT & T g 91 SIRER & ST A ANfey o s § GeahRy

TF (R) : O IR ToRIenRd & § GO S qHEel [ ST o {ofT STedisH & %
T Gl |

% :

(1) (A TE W (R) TS |

) (AT T E T (R)TWIE |

(3) (A) 3R (R) IHI T&l 7T € |

(4) (A) R (R)SA T T |

27. Trfatad i (A) @R @ (R) % o0 Tel Fe & ve= = =
At (A) : o= TIHRT, FRTET Gt 3 STHATIRIT §RT GATER0T i 319 Ush TR TSieT
(PG & E9 H THEdT 9 @7 S ¢ |

% (R) : TATEROT & GRETHIT i 3T Ueh STeRIne Tag o ®F § =19 A=l &1 Sl & |

- T

(1) (A) 3R (R) ST @&l &l & |

(2) (A) 3R (R) ST |

() (AT T E W(R)WIT |

(4) (A)THE W (R)TEHTEE |

28. frfefiaa st (A) 3R % (R) % T W&t &2 &l qgam &
WY (A) : e TEIR UEH St | & WAt Hed 1 U &7 @ E |
F (R) : o TeramR &} vimferss stafefd, sas Tost AnT, 9 WTH{dh ST 1 foaeiet der
3R Tk Tl W BT STHEEAT aTet 397 39k Hewd H SARa gig X ¢ |
T
1) (A)TIE W (R)TWI T |
(2) (A) 3R (R)IH T E |
(3) (A) W Tl &, W(R) FEr& |
(4) (A) R (R) I &l =T € |

29, Ty=fafEd st (A) 3R 0 (R) & o0 Tt %e Sl Tea &
AU (A) : o7 TR ST JATeR0T Gaell GRET ST {9t 9Ra X 3T ) 0 S1eTor uierar
% foTT Heao! 79e € |
qF (R) : 31faehay 30T Tierame 3o § Yot URERe Soil SHTEE! T 3NE € | 39 AfaRe, 3
91 o1 ol TS ST ST o ST o HIROT TR0 Heell FrEat o1 o G a @ & |
% :
(1) (A) 3R (R) 31 T&l T&l § |
(2) (A) W&, T/ (R), (A) I T& AR T E |
(3) (A)Td (R) I el € 3T (R), (A) i T&t AT |
(4) (A)TITIE W(R)TE |
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30. Match the following Ethnic Minorities in Table-I appropriately with the countries named
in Table-Il and use the code given below :

Table-1 Table-11
(Ethnic Minorities) (Countries)
(@) Newars (i) Bangladesh
(b) Chakmas (if) Pakistan
(c) Baluchs (i) Bhutan
(d) Lhotshampas (iv) Nepal

Codes :

@@ () () (d)
@ Gv) (@) (i) (i)
(2) (i) (i) (@) (iv)
3 (v) (i) (i) ()
4 (@) (i) (v) (i)

31. Match the following weapons in List-1 with their origin of nations in List-1l and use the
code given below :

List-1 List-11

(Weapons) (Nations)
(@) Lancaster Bomber (i) France
(b) Stukadive bomber  (ii) Soviet Union
(c) Katyusha rockets (iif) Germany
(d) Exocet Missiles (iv) Britain
Codes :

(@ (b)) () (d)
(1) @iy @) (v) (i)
(2 (v) (i) (i) ()
@ (@) (i) (i) (iv)
(4) (i) (@v) (i) (i)

32.  Which one of the following counties launched firstly the pre-emptive air strike during the
Arab-Israel War of 1967 ?

(1) Egypt (2) Syria
(3) Jordon (4) lsrael

33. The number of original parties to the Antarctica Treaty signed on 1, Dec. 1951 is :

1) 12 2) 21
(3) 25 4) 26
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Tttt dfetet-| o g SeasEashi & aiessl-|l § I9MT U 390 o 91 gt &9 9
ifer W 3R A faw T oz 1 T W
atferent — | atferaet — 11

(T SHeTHET) (3T

(@) Far (i) e

(b) =HHT (i) OTfeRE

(c) Se1 (ifi) e

(d) e (iv) et
%<

(=N

@ () (© (@
@ @Gv) (@) (i) (i)
(2 @) @iy @ (v)
@) (@v) (i) (i) ()
@) (@) (i) @v) (i)

frefeiaa -1 o gR@rt &t get-11 % 39 33T TR o 91 AT L S A §T M0 e
= - | = - 1
(zfoar) =)
(a) TR SR (i) wig
(b) TFERT SR (i) Hifaad 99
(C) Hegem Iehed (iii) ST
(d) wware e (iv) foea

%< .

[=N

@ () (© (@)
Q) (i) @) @v) (i)
(2 (iv) (i) (i) (@)
@ O @) (i) (iv)
@) (@) (v) () (i)

o oo

1967 % 3WE-TTREAA J§ % IR ARG H ¥ 6T 397 7 Ueell aR ST gaE ek &
foarm o 2

(1) = (2) wiREn
(3) ST (4) TREA

3ieThiesht WY IX U fTHaR 1951 1 &1eR A aTet ToT el ol TE& &
(1) 12 2 21
) 25 (4) 26
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34.  Which one of the following Articles of the Directive Principels of State policy deals with
the promotion of international peace and security ?

(1) Article51 (2) Article 48A
(3) Article 43A (4) Article 41
35.  Who chairs the Cabinet Committee on Security Affairs in India ?
(1) Prime Minister (2) National Security Advisor
(3) Defence Minister (4) President of India

36. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The number of refugees worldwide continues to increase and the
problems have not been resolved so far.

Reason (R) : The proliferation of ethnic, religious and territorial conflicts exacerbates
refugee problems which are often over-looked as primary causes of refugee
generation.

Codes :

(1) Both (A) and (R) are incorrect.

(2) (A)is correct but (R) is not correct.

(3) (A)isnot correct but (R) is correct.

(4) Both (A) and (R) are correct.

37. Match the following thinkers given in List-1 with their theories given in List-1l. Use the
codes given below :

List-1 List-11
(Thinkers) (Theories)
(@) G. Douhet (i) Sub-limited nuclear war
(b) B.H. Liddell Hart (if) Strategic Paralysis
(c) J.F.C.Fuller (iii) Strategy of indirect approach
(d) Andre Beaufre (iv) Command of the Air

Codes :

(@ () (© ()
1) @@ (i) (i) (iv)
(2) (iv) (i) (i) (i)
() (i) (v) (i) (i)
@) (v) () (i) (i)

38. ldentify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : The international situations and fundamental causes which some times
lead to war can not be altered by mere intervention with military technology.
Reason (R) : Historically, no amount of dialectical discourse has been able to advance a
conclusive proof that weapons cause war.
Codes :
(1) Both (A) and (R) are not correct.
(2) Both (A) and (R) are correct but (R) is not the comprehensive explanation of (A).
(3) (A)is correct and (R) is not correct.
(4) (A)isnot correct and (R) is correct.
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34, T & i M fagid &1 Eiehd B @S9 O1 w8 SR a3 G&T ol 31d 9

et € 2
(1) =g 51 (2) 3T 48A
(3) 3= 43A (4) =T 41
35. 9RA H GO HIHcAT bl FAHSei FHfd i STETeTdT i el & ?
(1) o wE= (2) UL G TARHR
(3) e (4) 9RA & Tl

36. To=iha iR (A) 3R @ (R) & ot W@t %e i Tea™ e

e (A) W fava § yRonfaEt sl GE TR Se W@ E X et I TaeEnet w5 gHiEE
T g T |

% (R) : ST, oifies 37 GHTE Gout i og IRUMET THE@T 6 el 3ot §, N8 3T IRomeff
AT % WATHE HROT & €9 H Ted- T TTHR 61 A1 ¢ |

o

(1) (A) R (R) =1 Tord € | (2) (A) T T W (R) T T E |

(B) (AT T E W(R)TWIF | (4) (A) 3R (R) I T E |

37. gHi-1 § fgu e f=Aitehd foament st Gei-11 § U 39 st § femd | e o1 W &Y
= - | = - 1
ERLED) (Fagia)
(a) ST g (i) wa-fafres it o)
(b) =t wm fAafear ere (i) weisTeh ety
(C) ST I For (i) TSI AF S T
(d) 37 =k (iv) HHE 3 T TR
T
@@ () () ()
@ @ (@) (i) (iv)
(2) (v) (i) (i) ()
3 (i) (v) (i) (i)
@ (v) () (i) (iii)
38. Ty=TaifEd a1t (A) 3R @ (R) & et e &l Ted &
AR (A) : ST TR fefqat SR gerd SRoT HH-FH Jg T AN TR R & S O
TR & 1T SheieT el | URafad el AT ST Fehal |
% (R) : siaerd @l € T ot o | aep afehes Garg g8 Horges wemor 7@ < urn € o ghrm
I & HRUTEA € |
HT:
(1) (A) 3R (R) 3T W& F& € |
(2) (A) 3R (R) 31 &t €, W (R), (A) Tl FHIEE 7T &l ¢ |
(3) (A) T TR (R) T T & |
(4 (AT T E, AR (R) T |
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39. Identify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : There is no single cause for war. Peace in strategic parlance could be
considered as an equilibrium among many forces.

Reason (R) : Change in any particular trend, movement or policy may make conditions
similar. Change may invite conditions for war.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.
(3) (A)iscorrect, but (R) is incorrect.
(4) (A)isincorrect, but (R) is correct.

40. Identify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : India being energy deficient must explore its supplies from other
countries including Iran.

Reason (R) : The US pressure on India is not a hinderene in the light of the US-Iran
nuclear deal.

Codes :

(1) Both (A) and (R) are false.
(2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true.
(4) (R)isfalse, but (A) is true.

41. Ildentify the correct code for the following Assertion (A) and Reason (R) as given below :
Assertion (A) : Kargil war was the product of negligence by the politico-military combine.
Reason (R) : Intelligence failure was also one of the contributory causes.

Codes :
(1) Both (A) and (R) are true. (2) (R)istrue, but (A) is false.
(3) Both (A) and (R) are false. (4) (A)istrue, but (R) is false.

42. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :
Assertion (A) : Arms control is more based on Realism.
Reason (R) : It is concerned with actual political situation between the rivals.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) (A)istrue, but (R) is false.
(3) (R)istrue, but (A) is false and (R) is the correct explanation of (A).
(4) Both (A) and (R) are false.
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39. Tr=fafad st (A) 3R @ (R) & ¥l He Sl Ted &
AMUFUT (A) : TF HT HIS el HRUT Tl eIl & | TATASTR Sietarel § il i 3 It &
e Tk T HHT ST HebelT € |
a® (R) : fordt fafere wgfa, goteet an Aifd o uRad= feafdal s 0= 91 9bd € | IRads 35
o fefaat ot STt Y T € |

HT !

(1) (A) 3R (R) 3 @& E |
(2) (A) 3 (R) 1 Tord € |
(3) (A) T g W (R) T € |
(4) (A)TEdE, W(R) W T |

40. TETeIREd e (A) 3R % (R) % T&t e Bl Ted &
A (A) : T & STTE Aol 39T % T R i S Fled 37 390 F 71 3Mgfaar = &

T EisTel 3T 9@y |
% (R) : IRT W TR AT STHNEHI-SA A FHE & FEAR HiE arel 78 & |
FT:
(1) (A) 3R (R) I TTord € |
(2) (A)TeaE, W (R)WIF |
(3) (A) 3 (R) 3T W&l € |
(4) (R)T@@E, W (A) T |

41, TETeRET e (A) 3R % (R) % T&t e Bl Ted &
ANTH (A) : PRATA T T TTHITeh-T=T ATIRETET T TROTH T |

aF (R) : GHaT fawetar ot 59 SRUT H§ ¥ U HRT 7 |

F:

(1) (A) 3R (R) 3 @& E |

(2) (R)WE & W (A)Tad & |

(3) (A) 3R (R) 3T Tod & |

(4) (AT E, W (R)TETE |

42, TETARET SR (A) 3R % (R) % T&t e Bl TedH H
ATHU (A) : BER FE0T Femefers W e e § |
& (R) : T Ufaweel T2l & S adae I [ 9 Hefad & |
A
(1) (A)TE (R) Tl & 3T (R), (A) Ff T&l AN E |
(2) (A) W g W (R)TTE |
(3) (R) W&, W (A) Toid & 3R (R), (A) H T& AR € |
(4) (A) 3R (R) I Tt & |
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43. Arrange the following Arms Control Treaties in their ascending chronological order and
use the code given below :

l. Outer-Space Treaty Il. Sea-Bed Treaty
I1l.  Antarctica Treaty IV. SALT-II Treaty
Codes :
@ LV 2 LI v
(3) v, 1L L 4) 1muLnLv
44. Which one of the following is the best conflict management approach in practice ?
(1) Awvoidance (2) Domination
(3) Negotiation (4) Consensus

45.  Who argued that “the first step in conceptualising the Welfare State involves locating the

primary source of tension that give rise to its particular political economy .....” ?
(1) Golden and Katz (2) Esping — Anderson
(3) Blunch and Verner (4) A.Wood
46. Match the following books in List-1 with their authors given in List-1I and use the code
given below :
List-1 List-11
(Books) (Authors)

(@) Anarchical Society : A Study of (i) Bernard Brodie
Order in World Politics

(b) People, State & Fears (i) John Baylis and Steve
Smiths
(c) The Globalization of World (i1i) Berry Buzan
Politics
(d) Strategy in the Missile Age (iv) Hedley Bull
Codes :

@ () (¢ (d)
D) (@v) (i) (i) @)
(2 (i) (i) (@) (iv)
(3) (i) (iv) (i) (1)
@) @ @) (i) (iv)

47. ldentify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : BMD system can limit the damage from a ballistic missile attack.

Reason (R) : There are many technological spillovers and economic benefits that could
come from investing in BMD Research and Development.

Codes :

(1) (A)is correct, but (R) is not the correct explanation of (A).

(2) (A)iswrong, but (R) is correct.

(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are not correct.
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43, Tefetiae ore fEmom e b Sk STRIET ety H SAafea Y S el fw Ty e b e

H

|, Ter Sfaiet |ty

. SIg& ot Gty

1. 3icTehiceht Afy

V. dree-1| 4ty

% :

@ HuLLL v ) LIV

(3) IV, I, I, 1 @ 1LV
44, TTHGREd 9 9 HIA9 SAEeN® ®0 § I G99 Ty SUNH & ?

(1) <o (2) ==

(3) ardr (4) 3o Teufd

45. T TRl ¢ T “SHedIoThRt g S GehoUdT 1 Ueet F3H a1d & 39 YRS @i B Tedm
AT &, S 3Th! AT AT 3Tef-aeT Sl 3T Fewdl ¢....” 2

(1) o= 3K (2) uRETTUEwEH
(3) i S Y 4 TIs
46. G-l ¥ ST U =it gt # gE-11 § XU 37 oi@eh @ fae S Y A K $e #

TENT ST
= - | = - 1
(TeTh) (i)

(a) SRS TS : of Wt 3fte (i) =S et

e T Foe uiaiead

(b) Hige, W2 UE W (i) S afera U W fag

(C) T TSSO 3 dos Uitelteard  (iii) SR o7

(d) =it &9 T e o (iv) Tt gt

YA

(=N

@ () (¢ ()
(1) (v) (i) () ()
(2 (i) (i) (1) (iv)
3) (i) (iv) (i) (i)
@ @) (i) (i) (iv)
47. TETREd e (A) 3R a6 (R) & 6T W&l 2 & Ted Hitu ;
AU (A) s TH S JoTTelt ST TamEe % gict 9 g arell atfd ol S s TehdT § |
qF (R) : ot U9 SF & G 3R [T § A & b dhieh! RO T 37w oy ¢ |

&

(1) (A) W& W (R), (A) F T =W T T |

(2) (A)TaE W(R) T |

(3) (A) 3R (R) 3 W&t &, @i (R), (A) o W&t =amen &l & |
(4) (A) 3R (R) I T T € |
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Match the years in List | with the maritime boundary agreements signed between the
countries in List 1. Identify correct answer with the help of a code.

List— I List—11
(YYear) (Country)

(@ 1974 (i) Myanmar - India
(b) 1980 (ii) India— Indonesia
(c) 1986  (iii) Australia — Indonesia
(d) 1989 (iv) Myanmar — Thailand
Codes :

@ () () ()

(O @iy @) @) (iv)
2 (@) (v) (@) (iii)
@) (v) (i) (@) (iii)
4) (@) (i) (i) (iv)

Which one of the following is not part of the Confidence Building Measures (CBMSs) ?
(1) Hotline

(2) People to people dialogues and exchanges

(3) Prior notification of military exercises

(4) Patrolling of borders and cross border firing

Which one of the following parallel line divides the two Koreas (North Korea and South
Korea) ?

(1) 28" Parallel (2) 29™ Parallel
(3) 38" Parallel (4) 39" Parallel
51. Match the following Authors in List-1 with the names of books written by them in List-II
with the help of the codes given below :
List-1 List-11
(Authors) (Names of Books)
() Raymond Aron (i) Force and Diplomacy in the Nuclear Age
(b) Barry Buzan (i) The Logic of Images in International Relations
(c) Robert Jervis (iif) A Century of Total War
(d) Henry Kissinger (iv) People, States, and Fear
Codes :
(@ (b)) () (d)
@ 0 G (i) (iv)
(2 (i) (iv) (i) ()
@) (i) (v) (i) (i)
4)  (iv) (i) (i) ()
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48. gl # fgu U feitehd ot B G-l H ST SHst T gEgid W ek HE o & AW 9
AR | e & AT ¥ el ST Hl UgdH DT
=i - | =it - 11
() ()
(@) 1974 (i) HMER - 9Rd
(b) 1980 (ii) “WRA - TSARET
(c) 1986 (iii) emferan - SeMf¥mET
(d) 1989 (iv) ™MK - arZeis
&2

(=N

@ () (© (@
Q) (i) @) @ (v)
2 (i) (v) () (i)
@) (@v) @) () (i)
@) (@ (i) (i) (v)

49, T=ifrd § 9 o foaverd =Tl 1 3 T8l ¢ 2

(1) e (2) YA T WIS SHANT U TR
(3) ¥ I I g Il (4) ST R USCHT 3R HT SET HEART
50. TR B & @i I JTMCR T@IE AT IRATST (ST HIRAT 3R A0l it st forfsra st
T2
(1) 284 3IMR (2) 294 IR
(3) 38dT IIMR (4) 3947 SIMR

51. eI # ST MU AT oigehi o A G-l § &Y T 39 [l o A9 ¥ WAy | % &
FEIAT | Tl I T TIT iU

=it - | =t - 1
(FiE) (T&T %1 )
(a) YHe A (i) ¥ UE fewmdt 37 § foeraw ust
(b) = g (i) T WATH 3 THST T TSV Nolerd

(c) Tae e (iii) 37 YAt 3 2lee AR’
(d) &4 SRR (iv) dige, Red g iy
BT

(=N

@ () (© (@)

@ O @) (i) (iv)

() (i) (iv) (i) (@)

@) (i) (v) (i) ()

@) (iv) (i) (i) (@)
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52. ldentify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : There is little motivation against European to bring Ukraine into EU fold.

Reason (R) : From the peace building perspective of the EU, it follows that any expansion
of Europe must reduce the overall level of hostility of the continent.

Codes :

(1) (A)is correct but (R) is not correct.

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)isnot correct but (R) is correct.

(4) Both (A) and (R) are not correct.

53. ldentify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In the foreign policy arena, the post Crimea Russian system had become
mired in confrontation with the West, without having completed a pivot in Asia.

Reason (R) : Isolationism in the post isolation era that is the post Soviet Era — is an oddity
with which the West is not quite sure how to deal with the situation.

Codes :
(1) Both (A) and (R) not correct. (2) (A)is correct and (R) is not correct.
(3) (A)isnot correct and (R) is correct(4) Both (A) and (R) are correct.

54. Identify the correct code for the following Assertion (A) and Reason (R) as given below :

Assertion (A) : Nuclear weapon is not a weapon of war, it is for deterrence, unless it is
being used in frustration having far reaching consequences.

Reason (R) : Nuclear options for India in relation to her neighbours are significant.
Codes :

(1) Both (A) and (R) are true and (R) is the logical explanation of (A).

(2) (A)is logical but (R) is not logical.

(3) Both (A) and (R) are not true.

(4) (A)isnot logical but (R) is logical.

55. Match the year in List — | with the conference held in List — II. Identify the correct answer :

List—1 List— 11
(Year) (Conference)

(a) 1947 (i)  Geneva Conference on Indo-China

(b) 1955 (if)  Paris Peace Conference

(c) 1954 (iii)  Asian Relations Conference

(d) 1919 (iv) Bandung Conference

Codes :

@ () (© (@

@ (i @) (@) (v)

(2 (@) (i) @) (v)

@) (i) (v) (@) (i)

4) (v) () (i) (i)
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52, Tre=fefad sifitee (A) 3R @6 (R) & foTT T&l e 1 =2 i
ATBE (A) : T3 B AT R (2 ) H wfer B % forw gR § i S T
TF (R) : T % wnifq 707 & uftsied @ 7 fehd feberan € o 1o fondt oft fomam & forw 5@
T TETEIT § YT o el WX 1 TS B |
&
(1) (AT E T (R) T TEIE |
(2) (A) 3R (R) 3HT T8l €, W (R), (A) H Tel = 761 € |
(3) (A) T &g, W(R)TE& |
(4) (A) 3R (R) IHI & Tel & & |

53, frefafad aifieswem (A) 3R 0% (R) & T @&l Fe i veam il
afirper (A) : faser Hifd & & o i S geT & 9% S WTel TRt § U g1 a9
T R T o7 afvem & Ty Gug § 3ot T |
& (R) : AT o TR A H - ST Fiiadd & a€e & 9% 1 et € - STHordeTs Ush U
3TSTe &, T IR | Uiy W W Té & o 39 3 ferfd @ $Y Heear oy |

HT:
(1) (A) 3R (R) 31 @&t &l & | (2) (A) WA (R) T &I ¢ |
(3) (A) T TEiE, 3R (R) Tl & | (4) (A) R (R) I W T |

54, TH=TaiEd e (A) 3R T (R) & T W&l < o Ted Hitu ;
AHUT (A) | T IR 5 1 T SR Tél &, I8 WaRe (feed=q) & fofu i &, <9 a
T TR GUTHT IROTHT % foTT 3T H SHAT &l fohal ST ¢ |

qF (R) : 3797 TSI S9N % Hee § YR & foTT 9T9] forehed Heeaqor ¢ |

&<

(1) (A) T (R) I T&T € 3R (R), (A) i dliches AT |

(2) (A)dIfws® & W (R) dIfhh &l € |

(3) (A) R (R) =i W&l &l & |

(4) (A) arrs T8l €, W (R) aihsh € |

55, T=taiad get-1 & a9 6 Gei-11 % T & T GAfed Y | T&l 3T Bl TedH &

= - | =t - 1
() (Fe)
(a) 1947 (i) feg-d W SHar e
(b) 1955 (i) T wifq gem
(c) 1954 (iii) uferaTs ety geem
(d) 1919 (iv) IS TR

o
@ (b) (c) (d)
Q) @) @ () (v)
(2) (i) (i) () (iv)
(3) (i) (iv) () (i)
4) (v) () (i) (i)
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56. Group of 77 (G-77), the coalition of Third World countries that sponsored the 1963 Joint
Declaration of Developing countries calls for :

(1) Democratization of World institution

(2) Reforms to allow greater equity in North South Trade.
(3) More aid to the Third World countries.

(4) Change in aid criteria.

57.  Which South East Asian country is looking for India’s overhauling facility of aircrafts and
other weapons supplied by Soviet Russia for its own weapons of Soviet origin ?

(1) Malaysia (2) Indonesia
(3) Vietnam (4) Philippines

58. Which one of the following cities is known as nuclear city in Ukraine ?
(1) St. Petersburg (2) Pripyat
(3) Donetsk (4) Kharkiv

59. In Defence Economics, 3 M Planning refers to which one of the following ?
(1) Money, Machine & Man power
(2) Man Management, Mechanization, Motorization
(3) Material Management, Materials, Mobilization
(4) Mobilization, Movement, Manoeuvres

60. “Nuclear Winter” refers to which one of the following ?
(1) Synergic effects of the use of Nuclear Weapons
(2) Blast effect
(3) E.M.P. effect
(4) Radio-active fallout

61. Who amongst the following coined the term “Cyber-Space” ?
(1) Carl Segan (2) David King
(3) Stephen Hawkins (4) William Gibson

62. The term “B 2 B” has been referred to which one of the following ?

(1) Boatto Bomber (2) Bharat to Bhutan
(3) Ballistics to Bombartment (4) Business to Business
Paper-111 26 J-11-16

WWW a?27StuUbiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

56. dIERI gHAT & TeSE YT % 77 (SH-77) FRI WS 1963 1 foshraeiict S bl I S0 §
forgen foTT ardier =t 72 2

(1) Tova TE FT ATHAABIOT LT

(2) STRIMA AR H (e =AFEAN A & o7 TR HEAT
(3) T AT % IR o ToTw 31tk Tern

(4) WETFAT % AIUKUEl | UREd AT

57. ffefad & & % 91 3faor ud ufere 39T Sifaad w9 gRT Sfq U U Hitgad 33 % o
T 3R 37 gRRRT St 7Owa % foTT gl @it @1 ¢ 2

(1) e (2) SeHRE
(3) forarem (4) Tt
58. fy=feifad Sl & | foheenl 3sheT o URAT] ¥&X o &9 T ST ST & 2
(1) ¥ degsT (2) BreEm
(3) TR (4) A

59. TeT Heell orve # 3 M e feteiad § | foheh 9ey W Sooiiad sl § 2
(1) &, 990+, ge oIferT
(2) TS TEYE, AR, TSS9 (FIei i UEi)
(3) TTIT vee, W, SR (SeeEsier)
(4) TSR (HSCTESIIN), 2Xehd, JTaaret (He)

60. “TRAM] I FETArEd B F forad 9ey § 3ooid T § ?
(1) TR SRRT % SUANT & T haTeTa e
(2) faEple H yaE
(3) TURMI T U
(4) et oot Rfsamided we-21m32)

61. T=fefad ¥ ¥ fho “Aea-Tq’ Is3eell i 5T i 2

1) A ) <fae
(3) A &b (4) faferam freem
62. “B2B” (@ ) # MEterad ¥ § e foTT Seoig fohar man € 2
(1) g (2) 9REgeRA
(3) Sy g SiweHe (4) foorm g faemm
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63. Arrange the following in their ascending chronological order and use the code given
below :
l. India’s nuclear doctrine
Il.  India’s first naval doctrine
I1l.  Indo-Soviet Treaty of Peace, Friendship and Co-operation
IV. Gujral Doctrine

Codes :
@ LIV (2 LIV, 1L
(3) LIV, 4) IV, I

64. After Pokharan explosion of May, 1998, which website was hacked and defaced by the
Pakistani hackers ?
(1) Ministry of Home Affairs website (2) BARC website
(3) JNU website (4) Ministry of External Affairs website

65. Which of the following is the weakest one as a Regional Economic Grouping to ensure
Regional Economic Integration ?
(1) ASEAN (2) NAFTA
(3) SAARC (4) MEKOSUR

66. What is a ‘fleet review’ ?
(1) It is a ceremonial and stately inspection of naval warships by the supreme
commander of the armed forces.
(2) Itisashow of strength vis-a-vis other nations.
(3) Flexing of naval muscles to subjugate the navy of neighbours.
(4) Itisarapid action by a country’s navy to fight sea piracy.

67. Keeping in view the Indian need for the freedom from want and abject poverty, who
among the following observed that “I see God in the smiles of the poor” ?

(1) Rajendra Prasad (2) J.L. Nehru
(3) Amartya Sen (4) M.K. Gandhi
68. The most common fibre used to make body armour is
(1) Vectran (2) Blosteel
(3) Kevlar (4) Carbon nanotubes

69. Which Indian aircraft took part in the Bahrain International Air Show in January, 2016 ?
(1) Ajit (2) Tejas
(3) Kiran (4) Jaguar

70. ‘LASER’ refers to which one of the following ?
(1) Light Amplification through the Stimulated Emission of Radiation.
(2) Limited Amplification through the Stagment Emission of Radiation.
(3) Light Amplifier for Stimulation and Radiation.
(4) Light Acquisition Through Simulated Energy Radiation.
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63. TR T ST Tl STRIET HIoTshH & SFAR T@ | B T FANT SHiTT -
l. AR & A fagi

[, 9 T Ygetl "dHH Mg

1. i, foerr i) g & fou yra-gifeaa gt

V. TR fagid
FT
@ 1,V @ 1,V 000
@) LIV, | @) IV, AL L |
64. TE 1998 % TIGERUT foThie & A1 LT &by = [hg SedTge i faga foar o 2
(1) T8 T i e (2) @1 (BARC) & SedrEe
(3) S g d=wE (4) feeeht ATt % HEeE W SRS
65. &I 3T Tl & folw FiTend § & 9o THeer &g enfaes 99e €
(1) eufEm (2) TR
3) & (4) =T
66. Tolle g T 2
(1) I& ¥ Jell & Fared HAST FRI AAHH J5 Al H1 fHaT STH ST ST T2 TR
R 2 |

(2) TE TH UL & A IO WA F I E |
(3) TSI T BT FGAT BT AT B o TIT 3T Ao IR 7 IG9i ¢ |
(4) st Skl Aeht o forw fepdlt T2 ol =IGAT §RT <l ST et el ShRaTs € |

67. 3T 3R YIS TRl ¥ TR Dl SR i TR i @ gU FHiThd § F fHae e o
foh “fordll TRIE =l YRR H e T¥aR oK 371 & 2

(1) TR TR (2) SUA "’E
(3) M T (4) TwEF W
68. YRR TW-Her™ T o oI Tl 31T (v HIEa o1 SEHTeT 8l ¢ 2
(1) aFA 2 LA
(3) AR (4) e A =
69. STHERI 2016 H ST SediT ST TR 9N | {ohd YRATF Sa = 90T o o 2
(1) s (2) =
(3) fewor (4) SR

70. ‘LASER’ feifera § @ forad daifya & 2
(1) e UeAfhhyM g T feqeids ufae & feuem
(2) foafee tieirhem 9 T WiHe TiHe 31w feuem
(3) IR UETHRR ®R ReqelvH U AeueH
(4) e TS g fageids st Yeuem
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Read the following passage given below and answer the following questions from 71 to 75 that
are based on your understanding of it :

When something is deemed to be about “Security”, a claim is being made, and this claim can be
subjected to analysis through reasoned argument. Any claim by a government that a particular issue is in
fact a threat to “National Security” can be put to the test in terms of the three criteria of truth, rightness,
and sincerity. The governments claim that it is indeed a security issue can therefore be disputed. This
then becomes crucial in making it possible to question whether in fact specific interests appear to benefit
by identifying this particular issue as a threat to “national security”.

Securitizing is never an innocent act. The history of the concept of security at the
intellectual and policy levels has endowed it with very particular implications. It inhabits a
thought realm that has traditionally associated it with specific and unrepresentative elements of
society as a whole, the military and government national defence sectors and their perspectives
and ethos. These sectors have traditionally been able to dominate the national policy agenda in
term of their ability to take precedence over other national objectives and to make claims on a
limited budget. Introducing a new sector to this thought world has profound implications not just
for the meaning of security, but also for the sector that is being securitized, and the possibility of
this being a positive step cannot simply be taken for granted.

The “broadening” of the agenda need not necessarily produce a new conception of security,
it could merely lead to the application of fairly traditional military security thinking to a wider
range of subject areas such as the economy and the environment.

71. According to the above passage, which one of the following is not identified as one of the
criteria to mark the threat to “National Security” ?
(1) Truth (2) Rightness
(3) Sincerity (4) Interest of Individuals

72. Securitizing is never an innocent act by different governments, because of :
(1) Intellectual and policy-centric implications
(2) Public sector units
(3) Public demand
(4) Intellectual property

73. Historically, which one of the following is not intertwined with the concept of national
security ?
(1) Military and national defence sector
(2) Social problems leading to internal security threats
(3) Strategic perspectives and national ethos
(4) Elections

74. The traditional sectors of security cannot be taken for granted simply due to which one of
the following ?
(1) National security agenda is traditionally capable of dominating other national policy
objectives.
(2) Budgetary allocations are needed, irrespective of the limit.
(3) Harmful threats require security arrangements.
(4) Absolute security is not possible.

75. The broadening of the security agenda need not necessarily produce a new concept of
“Security”, because of :
(1) The traditional military security thinking is not left by states.
(2) Role of military force still remains prime.
(3) Additional dimensions, like economic and environmental security don’t defy
military security.
(4) The state — centric needs of the above three are always important for it.
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TeAifeReT TeITeT T &9 § UigT 31T ST SMHR W U G&AT 71-75 1 SR 1T ;

Ifs fedt TTECT T TRET W TS g3 U T W &, 31X g I fhar ST ¥l €, ot uRke
T o ATEEH QST fIveAuor fohar ST Hhal € | TR 51T 76U 70 fopdt off U8 <9 =, T ae
foey fowr araa § A G o folt e §, — W, SRt SR SgHTeET e Sttt
TR TS ST T & | TAT WEHER & W 36 W o T8 Hivad 7 9 g 9 S[Er qeen €
foraTs @eT & Fehel € | I I8 (Huiaes 9 ¥ 9 & ¢ O 39 foug # U g & o
T H ETH 99 A I 5t T feaq 6t gfd et &

GREATHIOT ot Tkt SRarg el gl | sifgeh 3T Hfaa TR WX gRem &1 STauRoT H
IR 7 T AT [ ST WS Ff € | T8 U UH AN &1 I WM I §, S IR
T F T I IS F FY [REd T AT e, A1 90T TR T T & 3T
STR! T, UTeT T SRR § TS @M € | U aRdfaehdTell T sRiadT sHI &= i 3701
IITgAT & BRT T & TRURS T T I Dl AT 1 el T S0 el ST T & S it
e W A 3 I e & a1 FR ¢ | [TERi o 39 g W 0 & & THet § G + &
31l W ST SeeTand SUrerd &l &I, afeh 39 & & foTg ot et &, e geeamsheor ok i
W@ ¢, 3R THERISTH FEH & €T § TR GHEAT 1 9gd TAde® SeR F&l o s
Tl |
HEAGH F foAR TEwTH TR {h GRET B AT STTURON & S B, T¢ IRUNE A= G&T
e it Ush SATRT AT &, S 3T e SR vAieRer | ot @ foRdr ST EehdT ¥ |

71.  SUdeR TR % STHR ik W | A AT TR % foIT @’ i i TR ¢ 0
(1) 9 (2) =TT
(3) TRHEA (4) =t 1 T fed
72.  fafT= TXERT FRT ToRAT ST Aot FReTeRor it fehue Fét g, it
(1) sifge T ifd-higa Sefene & R |
(2) ST & T THEAT S HROT |
(3) ST I HITT % HROT |
(4) difg Gufa & HRT |

73. Ty § @ @9 Ufderias 9 9 T YOI St STTERON o TTe T[T g37 e € 2
(1) &= o I g &
(2) 3R G Gl YT XA dTetl ArHIiTeh o
(3) T URued T AT Uehid
4) =IT=
74, FEIhd § ¥ fRE SR § G & TRUNE &3 Sl GIAdgd SHR el [T ST Heha 2
(1) T TR HIEgE, TE AL i ardfersharsti T el g qRue &9 F g9 ¥ |
(2) THTeT % AES T e AvIF & |
(3) @R TeRI & feTT YT SUT 3Tevaeh ¢ |
(4) Yol HEE HWE T E |
75.  3TEvIsh el o GOl HEgE F R e B 9 GET hl B TS STTHRON S & e, i :
(1) T URUNE A= TR e T aRenT et [ g |
(2) = wifeR Bl R A F UgE
(3) omfaeh 3R TaTeRvN GRET S SfdReR ST ¥ TR i Tt Fal B |
(4) STgE AFI Bl A-Higd AETAHAR T T Ged FEeaqol € |
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